Solution to ECE Test #9 S09

1. The z transform of x[n]=(2/3)"u[n-2] can be expressed in the form
b

. Find the numerical vauesof A, bandc.
A:4/_9 b:i_ C:2/_3
x[n] =(2/3)"u[n-2] =(2/3)*(2/3)" " u[n-2]
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2. A DT system hasatransfer function H(z) = 5(2—)
z°+3z/4

constants, a,,a,,a,,b,,b, and b, in the system diagram below which would redlize this
transfer function.

. Find the values of the

a=1,a=34,a =0,b,=2,b,=0,b,=20

X[n]—r> b, %%@_» a, —r>y[n]
D

D
+ +
> b a |
Y + + \ 4
b J I_ >
| b, a, |<«—
Y(2) (222/5)+4

X(2) ey 0 22Y(z2)+(3/4)zY(2) = 222 X(2) + 20X (2)

Y(z)=2X(2)+20z* X(2)-(3/4)z" Y(2)

y[n] = 2x[n] + 20x[n-2] - (3/4)y[n-1]



Solution to ECE Test #9 S09

1. The z transform of x[n]=(3/5)"u[n-1 can be expressed in the form
b
. Find the numerical valuesof A, band c.

Z—C

A=3/5 b=0 c=3/5
x[n] =(3/5)"u[n-1 =(3/5)(3/5)" u[n-1]
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constants, a,,a,,a,,b,,b, and b, in the system diagram below which would redlize this
transfer function.

2. A DT system has atransfer function H(z) =3 . Find the values of the

a8 =1,8=0,a,=23,b,=0,b=3/7,b,=6
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Y(2)=(3/7)z*X(2) +62% X(2)-(2/3)z2* Y(2)

y[n] =(3/7)x[n-1 +6x[n-2] - (2/3)y[n-2]



